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Coordinates of the Unit Circle
	
	If the radius r = 1 of the circle on the left, then the circle is called an _________ ___________.
Let (x, y) be the point on the unit circle on the terminal side of θ.

Fill in the coordinates for (x, y) for the quadrantal angles in an unit circle.


Coordinates of Common Angles
	Find the values of the legs of a 30° – 60° – 90° ( if the hypotenuse is equal to 1.  

In radians, 30° – 60° – 90° ( is a _____ – _____ – _____ (.  
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	Find the values of the legs of a 45° – 45° – 90° ( if the hypotenuse is equal to 1.  

In radians, 45° – 45° – 90° ( is a _____ – _____ – _____ (.  
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, for an _______   ___________, 
when r = 1,   then x = ____________ and y = ____________.  
(  Given r = 1, find the coordinates of x and y for the angles θ with a reference angle of 
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(  Find the coordinates of x and y for the angles θ with a reference angle of 
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(  Find the coordinates of x and y for the angles θ with a reference angle of 
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(  Write the definitions of 
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 in terms of x, y, and r.  
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Therefore 


Mixed Practice:  Show all your work and reasoning.
1)  For each angle (, find 
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2)  For each angle (, find (  (in radians) and the other two values for trig ratios.    
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	4.  Given 
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